EARAZROREIERT — 2 N—XBISY —F 2015F4811H (£) 1[@EKR4H

m C2-+m +5%—f% ‘ (x4 Jl"ﬁ‘ [Emml  — | & (5 13000 Fi
[xE£] 1 %&:120,000 @  2#&:24,000 ™ ~ 3#&:12,000W ~ 437%&:9,000”  53#%:3,000H
RESB MK HE BF (F8) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
YITELR M= H 5 ggz;ﬁv 1:(2_2).3 1-1-1-1 1389 — | 1 | 460 gg;;ﬁ%— (KiR)
QHITNIS A= BHITTTI YL | grrugs
S — pd :23. -3-3 . — FEF= (BRFE
NYT— k= 48 g 1(243)0 3-3-3-2 | 39.2 2 (4_839) it
L:xq42av by B:FUEVE> N T — e
S h—FwLU w7 ;;Bgli (11213/233 4-4-4-4 | 39.2| — 4 | 476 %E;?EE“ (KiR)
Lia=/F¥LLy b BiEa-F13UF> (-3) BI77—L4
o & BAANIZ : —6-6- — FBILUES ()
~NA XN — 4 5 o 1.(243).9 6-6-6-5 | 38.9 5 ;1_320) E’iﬁa;&
R:vavFihrT B:ITN-TLT [EZ LN
N 4 g | BREE 1:24.3 5-5-5-6 | 40.2 | — 6 506 | fREEFD (KIR)
YYZT7ILE b 56.0 (2 1/2) (+6) T HEERK
LAY UANRT N BT XAT(T SRS
JLryLsad 4 6 E%%gﬁﬁ% 1:(224).6 7-7-7-7 | 39.1| — 7 | 445 g%ﬁmﬁﬂ (KiR)
RATA RTIN BTLTY LTI — 42 10 me
. SAARHRIE . _0_o_. — 1REEFD (GR)
705l 5| TTO—2 =2 IR A et 2ees 409 ’ (ﬁg) AfEET
LixA2agR—-5— B:T7I/F4F— e
@ 1 —F—EBIE
1T=2r= 3,5,7,4,6,1,2
2R == 3,5,7,4,6,1,2
d=zr= 3,5,7,4,6,1,2
41 —F— 3,7,5,4,1,6,2
[ F/N=5
B OB 3 160 794K 3-7 130 5= 3-7 180 & 3-4-7 510
7B 3 100 3-4 240M BHE Sallt 330H e 3-7-4 1,400
7 120M 4-7 350/

ABICOVWTRDTEEERROODE. TR LIV,




